ABREEBEMRXBEORE

1 SEEHIH oS RE, BB KON R ) B

®OE 4 Hoor A &
W/ Aoy e =]
Hess X ke
RIR SR B A
B XA R
/e Aot e =N N
A?ﬁﬁ@éiﬁﬁ@é

S A A B H

%
p L
m

8H 2T H (&) 9HS5H (H) 8H 2T H (&)

\ —fe

2 BEFEXROEESEAB

BEEX BE & AR
X 1A
A ] T g ZE X 1A
e - JATAREEZEX 1A

3 PREERERR

PRI T REDN D Tk 8 RFE T

o2 L, AisEsE (N 25 4RYEAEEE 100 5) BB 40 KRB 1 HAEZ LEOHEICLY | HE
FraPAC A2 BT 2 BEXIZOWTIE, ZDORiZ £ T,

4 BHE=
EIHBRZE &35,

5 S fE AT TR
(1) AR 8H2TH (&) FHISKE30 306K S5IFET
(2) St LiWEREX . ETRET

Al T A ) T AT

RS \NTRETIEEEX - W i BeaT

6 fLits
60 J7
7 BEEX R OBHEXE (5346 H 1 HBIE)
;'O X BEEXEL PR 22X $
s X 50 1
o fif] T g X 52 1
it O RIVANG SR B2 P 53 2
8 BEANAEBEEE (349 H 1 A8
B’ X e N4 RGN 5 58
s X 117,943 A 58, 703 A 59, 240 A
o fif] T g X 62, 588 A 30,954 A 31,634 A
e TIRIVANS AV LI B2 P 66, 364 A 33,213 A 33, 151 A
& 246, 895 A 122,870 A 124,025 A




9 Ez&EENE H OFIFREE
EORHORTH (8 A 26 H) OEFHFRERERICIVEHT S,
« TR
117,969 A X 83F = 3 A + 3,900,000 = 7,163,809 [
= 7,163,900 [
o Al TR X
62,599 A X 83F = 2 A + 3,900,000 = 6,497,859 [
= 6,497,900 [
ERRT - T RETIERZEX
66,390 A X 83F = 2 A + 3,900,000 = 6,655,185 [
= 6, 655, 200 [
10 QANBRAZ—EREK
- T EEZEX ;341
« A THEEZEIX ¢ 320
< HRRTH o \TRIETEEZE X ¢ 363
11 SN
PR EEREY) AT, 4R E (8 H 27T H) D145
12 Zof
(1) SEPEEHHES
PEIES S P H 1= % At
TR X
8H3\H #% 2 I 30 4y R IR A ET
p———— H (k) % 2FF 30 73 /) HWAERT
TR - NTARETERZE X 8 A3 H (k) Hil0 K WS PT
(7eks. ZOBMBASORE, S E HBIR R 2 Bl 5, )
(2) SEfrtdm AT A
PEE S P H 1S % At
TR X TR T
BT sHeH O T
1B X
— . ZFRT O HE 30 597 b4 4 BEE T —
BT« \TRIT 2K 7 B T T

153 SAHI1TH (K)
BT RIREST

(3) BEAHFATEL
H IO I 30 7370 5% 4 &
b

¥

(4) A

7 — L0 HHIC R AR Y

—’(:\




